



# CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO Certificate Number : **LA-COO-69136-6953d46c76e51**  
VERIFY.FTGS.US Date : December 30, 2025

Seller (Exporter) xpeak global inc 9721 Alesia St South El Monte CA USA	Transport Type Vessel	Port of Loading MIAMI
Consignee NINGBO NINGSHING UBAY CROSS-BORDER TECHNOLOGY CO.,LTD Room 104, B1, No. 9 Caoejiang Road, Daqi Street Beilun District, Ningbo City, Zhejiang Province. China	Destination Country China	Destination Port SHANGHAI
	Export Date *****	Exporting Carrier *****
	Import Permit Number *****	Bill of Lading / AWB OOLU2314018040
	Owner or Agent *****	Forwarding Agent *****

## Buyer (Importer)

### Remarks



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
ON 100% Whey Gold Chocolate-Malt 2.27kg (5lbs) 73serv	810.00	United States
ON 100% Whey Gold Coffee 2.27kg (5.01lbs) 71serv	666.50	United States
ON 100% Whey Gold Mocha Cappuccino 2.27kg (5lbs) 71serv	669.70	United States
ON 100% Whey Gold Extreme Milk-Choco 2.27kg (5lbs) 71serv	1135.00	United States
ON 100% Whey Gold Banana-Cream 2.27kg (5lbs) 73serv	1135.00	United States
ON 100% Whey Gold Van-Ice-Cream 2.26kg (5lbs) 77serv	1129.70	United States
ON 100% Whey Gold Strawberry 2.26kg (5lbs) 77serv	942.30	United States
ON 100% Whey Gold DBL-Rich-Chocolate 2.29kg (5.05lbs) 74serv	2773.07	United States
ON ZMA 90Caps 30serv (24/cs)	2144.40	United States
ON Opti-Men 90CT 30serv (12/cs)	225.42	United States
ON 100% Casein GS Chocolate 1.8kg (3.97LBS) 55serv	512.10	United States
ON 100% Casein GS Vanilla 1.75kg (3.86LBS) 56serv	236.45	United States
ON Serious Mass Chocolate 2.72kg (6LBS) 8serv	170.00	United States
ON Serious Mass Vanilla 2.72kg (6LBS) 8serv	80.00	United States

## Name of Authorized Trade Association



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:  
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.  
- The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.  
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.  
- The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.  
- In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.  
- The Applicant is authorized to give the undertakings set out herein.

Authorized Signature *Farhad Ghorbani Fard*



# CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO Certificate Number : **LA-COO-69136-6953d46c76e51**  
VERIFY.FTGS.US Date : December 30, 2025

Seller (Exporter)  xpeak global inc 9721 Alesia St South El Monte CA USA	Transport Type Vessel	Port of Loading MIAMI
	Destination Country China	Destination Port SHANGHAI
	Export Date *****	Exporting Carrier *****
Consignee  NINGBO NINGSHING UBAY CROSS-BORDER TECHNOLOGY CO.,LTD Room 104, B1, No. 9 Caoejiang Road, Daqi Street Beilun District, Ningbo City, Zhejiang Province. China	Import Permit Number *****	Bill of Lading / AWB OOLU2314018040
	Owner or Agent *****	Forwarding Agent *****
Buyer (Importer)	Remarks	
Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
ISO 100 Gourmet Chocolate 5lb 2.3kg (6/cs)	3204.30	United States
ISO 100 Gourmet Vanilla 5lbs 2.3kg (6/cs)	1546.70	United States
ISO 100 Strawberry 5lb 2.3kg (6/cs)	1817.50	United States
ISO 100 Birthday Cake Pebbles 5lb 2.3kg (6ct)	754.23	United States
ISO 100 Fruity Pebbles 5Lbs 2.3kg (6/cs)	754.23	United States
ISO 100 Fudge Brownie 5lb 2.3kg (6/cs)	1293.80	United States
ISO 100 Cookie and Cream 5lb 2.3kg (6/cs)	754.20	United States
ISO 100 20 SERV Gourmet Chocolate 650g (3ct)	1110.00	United States
ISO 100 20 SERV Gourmet Vanilla 610g (3ct)	295.62	United States
ISO 100 20 SERV Chocolate Peanut Butter 650g (3ct)	198.63	United States
ISO 100 20 SERV Birthday Cake Pebbles 610g (3ct)	111.00	United States
ISO 100 20 SERV Strawberry 610g (3ct)	200.00	United States
ISO 100 20 SERV Cookies & Cream 620g (3ct)	103.46	United States
ISO 100 20 SERV Fudge Brownie 660g (3ct)	110.78	United States
Name of Authorized Trade Association		
<p>The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:  - The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.  - The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.  - The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.  - The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.  - In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.  - The Applicant is authorized to give the undertakings set out herein.</p>		
<p>Authorized Signature <i>Farhad Ghorbani Fard</i></p>		



# CERTIFICATE OF ORIGIN

ORIGINAL

TO VALIDATE, GO TO [VERIFY.FTGS.US](http://VERIFY.FTGS.US) Certificate Number : **LA-COO-69136-6953d46c76e51**  
Date : December 30, 2025

Seller (Exporter) xpeak global inc 9721 Alesia St South El Monte CA USA	Transport Type Vessel	Port of Loading MIAMI
Consignee NINGBO NINGSHING UBAY CROSS-BORDER TECHNOLOGY CO.,LTD Room 104, B1, No. 9 Caoejiang Road, Daqi Street Beilun District, Ningbo City, Zhejiang Province. China	Destination Country China	Destination Port SHANGHAI
	Export Date *****	Exporting Carrier *****
	Import Permit Number *****	Bill of Lading / AWB OOLU2314018040
	Owner or Agent *****	Forwarding Agent *****

## Buyer (Importer)

## Remarks



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
ISO 100 Cocoa Pebbles 20 Serv. 650g (3/cs)	108.90	United States
ISO 100 Fruity Pebbles 20 Serv 610g (3/cs)	101.63	United States
ISO 100 Fudge Brownie 3lb 1.37kg (6/cs)	361.90	United States
ISO 100 Gourmet Chocolate 3 lb 1.37kg (6/cs)	2005.88	United States
ISO 100 Gourmet Vanilla 3 lbs 1.37kg (6/cs)	763.00	United States
ISO 100 Fruity Pebbles 3lb 1.37kg (6/cs)	171.30	United States
ISO 100 Cocoa Pebbles 3 lb 1.37kg (6/cs)	171.30	United States
-----end of products-----	-----	-----

Accredited Chamber | US2100201

Name of Authorized Trade Association	  	<p>The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:</p> <ul style="list-style-type: none"> <li>- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.</li> <li>- The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.</li> <li>- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.</li> <li>- The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.</li> <li>- In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection therewith.</li> <li>- The Applicant is authorized to give the undertakings set out herein.</li> </ul>
Authorized Signature <i>Farhad Ghorbani Fard</i>		

# XPEAK GLOBAL INC.

# Invoice

9736 ALEIA ST SOUTH EL MONTE, CA 91733

Date:	Dec 03 2025
Invoice #:	V120320250001
Customer ID:	
Purchase Order #	
Payment Due by:	

## Bill To:

Peak Ocean Hong Kong Limited

ROOM 104, B1, NO.  
NINGBO CITY, ZHEJIANG PROVINCE, CHINA  
TEL: 0574-8687718/13355966925 FAX: CTC-ZHAOCHUNGRONG

## Ship To (If Different):

NINGBO NINGSHING UBAY CROSS-BORDER  
TECHNOLOGY CO., LTD.

ROOM 104, B1, NO.  
NINGBO CITY, ZHEJIANG PROVINCE, CHINA  
TEL: 0574-8687718/13355966925 FAX: CTC-ZHAOCHUNGRONG

SKU	Description	Unites	Price	Amount	USD
748927022346	ON 100% Whey Gold Chocolate-Malt 2.27kg (5lbs) 73serv	304	56.5	\$	17,176.00
748927027211	ON 100% Whey Gold Coffee 2.27kg (5.01lbs) 71serv	256	56.5	\$	14,464.00
748927026238	ON 100% Whey Gold Mocha Cappuccino 2.27kg (5lbs) 71serv	256	56.5	\$	14,464.00
748927024142	ON 100% Whey Gold Extreme Milk-Choco 2.27kg (5lbs) 71serv	424	56.5	\$	23,956.00
748927029574	ON 100% Whey Gold Banana-Cream 2.27kg (5lbs) 73serv	424	56.5	\$	23,956.00
748927028706	ON 100% Whey Gold Van-Ice-Cream 2.26kg (5lbs) 77serv	424	56.5	\$	23,956.00
748927028690	ON 100% Whey Gold Strawberry 2.26kg (5lbs) 77serv	356	56.5	\$	20,114.00
748927028669	ON 100% Whey Gold DBL-Rich-Chocolate 2.29kg (5.05lbs) 74serv	1020	56.5	\$	57,630.00
748927024821	ON ZMA 90Caps 30serv (24/cs)	792	11.5	\$	9,108.00
748927052237	ON Opti-Men 90CT 30serv (12/cs)	96	15.82	\$	1,518.72
748927024227	ON 100% Casein GS Chocolate 1.8kg (3.97LBS) 55serv	200	46.5	\$	9,300.00
748927024180	ON 100% Casein GS Vanilla 1.75kg (3.86LBS) 56serv	100	46.5	\$	4,650.00
748927022995	ON Serious Mass Chocolate 2.72kg (6LBS) 8serv	64	28.5	\$	1,824.00
748927023008	ON Serious Mass Vanilla 2.72kg (6LBS) 8serv	32	28.5	\$	912.00
705016353187	ISO 100 Gourmet Chocolate 5lb 2.3kg (6/cs)	1302	71.5	\$	93,093.00
705016353217	ISO 100 Gourmet Vanilla 5lbs 2.3kg (6/cs)	600	71.5	\$	42,900.00
705016353170	ISO 100 Strawberry 5lb 2.3kg (6/cs)	702	71.5	\$	50,193.00
705016500420	ISO 100 Birthday Cake Pebbles 5lb 2.3kg (6ct)	300	71.5	\$	21,450.00
705016353439	ISO 100 Fruity Pebbles 5Lbs 2.3kg (6/cs)	300	71.5	\$	21,450.00
705016500406	ISO 100 Fudge Brownie 5lb 2.3kg (6/cs)	504	71.5	\$	36,036.00
705016353200	ISO 100 Cookie and Cream 5lb 2.3kg (6/cs)	300	71.5	\$	21,450.00
705016357208	ISO 100 20 SERV Gourmet Chocolate 650g (3ct)	1449	29	\$	42,021.00
705016358205	ISO 100 20 SERV Gourmet Vanilla 610g (3ct)	450	29	\$	13,050.00



705016600335	ISO 100 20 SERV Chocolate Peanut Butter 650g (3ct)	300	29	\$	8,700.00
705016600366	ISO 100 20 SERV Birthday Cake Pebbles 610g (3ct)	150	29	\$	4,350.00
705016600373	ISO 100 20 SERV Strawberry 610g (3ct)	291	29	\$	8,439.00
705016600359	ISO 100 20 SERV Cookies & Cream 620g (3ct)	150	29	\$	4,350.00
705016600342	ISO 100 20 SERV Fudge Brownie 660g (3ct)	150	29	\$	4,350.00
705016356201	ISO 100 Cocoa Pebbles 20 Serv. 650g (3/cs)	150	29	\$	4,350.00
705016354207	ISO 100 Fruity Pebbles 20 Serv 610g (3/cs)	150	29.00	\$	4,350.00
705016353231	ISO 100 Fudge Brownie 3lb 1.37kg (6/cs)	240	51	\$	12,240.00
705016353132	ISO 100 Gourmet Chocolate 3 lb 1.37kg (6/cs)	1260	51	\$	64,260.00
705016353156	ISO 100 Gourmet Vanilla 3 lbs 1.37kg (6/cs)	480	51	\$	24,480.00
705016353415	ISO 100 Fruity Pebbles 3lb 1.37kg (6/cs)	120	51	\$	6,120.00
705016353422	ISO 100 Cocoa Pebbles 3 lb 1.37kg (6/cs)	120	51	\$	6,120.00
		Total	14216		\$ 716,780.72

Special Notes and Instructions	Subtotal	\$ 716,780.72
	Sales Tax	
	Discount	
	<b>Total</b>	<b>\$ 716,780.72</b>

**Thank you for your business!**

XPEAK GLOBAL INC.  
9736 ALEIA ST SOUTH EL MONTE, CA 91733

